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e HPAKOUUODDUOUODOUOUOHPAKEL OO DDOODOOOODLOOODLOOODOODODOO
ooo

e Hrput 0 hbk OO OO OOODO

call Hbook1(1,Hist_title,line_NO,1.,line_NO,O0.)
call Hbook1(2,Hist_title,line_NO,1.,Energy_MAX,0.)
call Hbook1(3,Hist_title,line_NO,1.,Energy_MAX,0.)
call Hbook1(4," ",line_NO,1.,Energy_MAX,0.)

call HBARX(2)

do ch=1,line_NO
Rch = REAL(ch)
do i=1,y(ch)
call mtcalc(random,bin_min,bin)
Energy2 = Ecal_a * Rch + Ecal_b

Energy = Energy2 + random

call HF1(1,Rch,1.)
call HF1(2,Energy,1.)
enddo
enddo
call HUNPAK(2,Conten,’’,0)
call HUNPKE(2,Error2,’’,0)

y = y * scaling / Trate
Error2 = Error2 * scaling / Trate

Conten = Conten * scaling / Trate

call HPAK(3,Conten)
call HPAKE(3,Error2)
call HPAK(4,Conten)
call HPAKE(4,Error2)

call Hrput(0,HBOOKfilename,’N’)
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csv2h 00000 hbkOODO OO ANAPAWO OO OOBIOOODODOOODODODODO0O0D00O00O0O
0000000000000 egkumac0000000000
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exe kumac/rad epsfile textfile 0000 OO hbkO O

O0O00 FiglOOOD epsfile 00000000000 DOOO0OODOO0OOOOOO svOOOODO
goooobooboobobon

O0000000000000000000000 textfiled gnuplot 000 (decay.plt) 0000
ugboobooobooan
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ANAPAW O filel.eps,file2.eps ,.. 0000 eps 0000000000000 jpg00OO (epsO0O
0000 gif0000000O0O00O0O)DO

convert filel.eps filel. jpg
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convert -delay 1 filex.jpg file.gif

-delay 0000000000000 OOOOOO /100000000
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